PROFESSIONAL EXAMINATION
. | BOARD
Professional -
@bgé%rpc}notion Middle School Teacher
Eligibility Test — 2018
25th Feb 2019 02:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her
age. / Tt safaa &1 gfcs afsy &1 3= A STt g ¥ faunfora g9 afaa
P 3P AU A =TT S 2

1. Real Intentional, Stereotyping / IRdfd® X1, TR

2. Chronological, Neurological/ d’lﬂl'j,q?IrJ\-IOh, Afd®
3. Chronological, Mental/ WW, R
4. Mental, Chronological/ qHR®, Ww

Correct Answer :-

» Mental, Chronological/ J-II"IR-IOI?, Oblc1l'j,9bﬁ-ld>

2) Which genetic problem is associated with heart defects? / TG4 R & Iy H19 H
SATTIRIS THT &2

1. Turner’s syndrome / TR ﬁl@ﬂ

2. Down’s syndrome / ST3 ﬁl@j’q

3. Autism / 3fiT¢oH

4. ADHD/QS"Qag

Correct Answer :-

« Down’s syndrome / SI13 ﬁl@j’q

3) Which of the following age ranges is considered early childhood? / frufafaa d 9 f5a g Idtr
P URTHS SEU= AT ST 82



1.7t011/79 11
2. Birth to 2/ SFI 9 2
3.3t012/39 12

421 6/2 9 6

Correct Answer :-

21t 6/296

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / qau= o

T8 ST ¥R o B U 7S SISl & S[d & Ble BT 46, BT U Iae0l &
1. Long-term memory / &9-Td R

2. Episodic memory / AT Sfd

3. Inmediate memory / TchTdl Wid

4. Sensory memory / deT ¥fd

Correct Answer :-

o Immediate memory/?‘l(_m'—lﬁﬂﬁf

5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of

nested environmental systems that are also called ./ uiifRufae yomeht ﬁl?il_d,
ot g& FU A I FiheR gRT AGR {691 7471 8, IR UhR & Aes qaiarr yonferal &)
fAfée wvar @ o WY we1 SITar 81

1. Influential conceptualization/ YUTARITS! SaEROM

2. Human development/ A4 fasTg
3. Human ecology/ Aa IRfYfa®!
4. Intellectual development/ SfGP faH™

Correct Answer :-

» Human ecology/ HIFd urikiRufcat

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or
cultural goals is called . / T A&hl B 3R Sl T I ThTHS a8l di Y: SR &, ot
TR FATHD, S T ARBIAIP AT T o, Fgarargl

1. “Sublimation / RANEEU



2. Compensation / IREN|

3. Affiliation / H&YT

4. Rationalization / g%lw

Correct Answer :-

« “Sublimation / REAGICEU

7) Which of the following agencies is responsible for preparing curriculum framework for
school education in India? / fRffEd & ¥ 19 W woidfl, uRa A wpelt Rien & R ureuswa TuvEr
IR T F T Ierer 32

1. NCERT
2. NEUPA
3. NCTE
4. RCI

Correct Answer :-

« NCERT

8) Law of Readiness highlights the need of before learning. / AT BT

fom, afrmAqd | F ravgedI R Ue Sradr |
1. Experience / 3{JHd

2. Reinforcement / Q:ITST?F[

3. Practice / WY
4. Maturation / PIRCE]

Correct Answer :-

« Maturation / IRCE]

9) What is the ‘magic number’ according to Miller’s theory on chunking? / TfHT IR fireR & Rrgia &
TR AP Fav |82

1.2 (+/-3)

2.9 (+/-1)



3.5 (+-2)
4.7 (+/-2)
Correct Answer :-
. 7(+-2)

10) What type of Gardner’s multiple intelligences is used during a dance performance? / <] TeRH &

IRM, MER F {5y YR & 9 FiSur &1 IuanT f5ar orar g2
1. Naturalistic intelligence /m Ej@

2. Intrapersonal intelligence / fRIafads® ng@

3. Linguistic intelligence / ‘H'I'W'Iﬁ@@

4. Bodily-kinesthetic intelligence / IRIR®-TTfa=dd! CI

Correct Answer :-

« Bodily-kinesthetic intelligence / TR -TTfada< gfS

11) What do individuals scoring highly on neuroticism experience? / HTﬂTﬂTT (ﬂ?ﬁﬁ%ﬁl’) SqHd ﬁ,
i Bt AT T AT g1 82

1. Uncontrollable happiness/ S{fdif3d vrg=rar

2. Mixed emotions/ THf&d HIG

3. High stress and anxiety/ 3= d-IId 3R geRTgT

4. Positivity/ YPRIHD

Correct Answer :-

« High stress and anxiety/ 3@ T1d 3R GeRTgT

12) As a teacher, what is the best way to help students in a problematic situation? / Th e FEY

H, T fRATG ¥ STl 3t dag H- BT G4 ST aRibT |1 82
1. By reward / 3T @R

2. By punishment /&8 G

3. By providing solution / THTYT UG ®Rb

4. By giving similar type of problem to solve / 8@ &< & AT 4! UHR P! THT GHT

Correct Answer :-



« By giving similar type of problem to solve / 80 ®RA & AT 3T UHR P! AT TR

13) Children start experiencing peer group influence by around the age of: / I dPpta ERIRSIE I

TEH U TUE YU BT SJHT HIT I P od &
1. Five years / U/ a8

2. Four years / IR a8

3. Three years / A9 a8

4. Six years / ©: G

Correct Answer :-

o Six years/ ®: G

14) Which of the following is not a characteristic of working memory? / m ﬁ' ﬁ a'ﬁq ?ﬁ I
e @fdr A o oo =81 82

1. It involves rehearsal / 399 Rgdd M g

2. It is permanent / ’Ts’@ﬂﬁ[%l

3. It is active /HEW%I

4. It involves manipulation / gﬂﬁ Gﬁ%’-?ﬁ%’ NIIE %I

Correct Answer :-

« Itis permanent/ T8 QIR gl

15) Which of the following best describes ‘learning’? /Frafafaa & Q@ S1-91 SRR o1 99
33T qui FRaT 32

1. The process of acquiring knowledge and skills through listening to the teacher. / fRrere o1 {Flef & HIEH I
= o
I IR DI YT B Bt Ul

2. The process of gaining facts and information through rote memorization. / H&l TR & AT Q ) 3R
SIFRI AT B b1 UichaT |

3. The process of gathering information by reading and writing. / tIE%T 3R fora & ISISIREIE] PGl e
1 ufeha|

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 30 faaRY, 3Ha, 3reqg, 2o SR TTHHR0T & H1eH F I, I R e ura
6 B Ufehar

Correct Answer :-



» The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 30 TaARY, sy, 3rea, Sl 3R ATSNHRUT & ATeHH I IH, HINA 3R FHuer urd
DR B Ufehar

16) Which of the following stages of psychosocial development do not occur in childhood? /uﬁ%wﬁa?

e & Fufafed avon & & #1991 o 9907 & T8 ghar 82
1. Autonomy vs. shame / XTIl 9 <

2. Trust vs. mistrust / [IYT S iy

3. Intimacy vs. isolation / 3Tl §-TH 3R

4. Initiative vs. guilt / U8d SH SORTY Y

Correct Answer :-
o Intimacy vs. isolation / 3{GRITAT §TH 37ed

17) Which of the following embodies the idea that individuals learn through experience? / Frafafea o

Y P T faR Yol U AT 8 99 U F WTeAH | i Haar 82
1. Universality / §deaTqdhdl

2. Nature / Udpidl

3. Nurture / GTS0T

4. Determinism / HAfddTg

Correct Answer :-

« Nurture / 9IS

18) Language of word is not necessary for: / TeG] T HTHT '&"H% ﬁl’E ICRUE qﬁ%
1. Conceptual thinking / CEIIRCAERES

2. Perceptual thinking / 3{d YRUMAD Fid

3. Imaginative thinking | HegRId fefde

4. Associative thinking /Wfﬁ?ﬂ

Correct Answer :-

» Imaginative thinking | SR ffa



19) While Piaget gave importance to biological factors governing development, Vygotsky ascribed

importanceto_./mﬁﬁmﬁﬁﬁaﬁmmaﬁﬁwaﬁmm,Wﬁ?
ISP ! A P A BT HRUT d4T:

1. Thinking process / feid= ufehan
2. Social interaction / ATHII® TUdH
3. Physical factors / Hifdd HR&

4. Environmental factors / QOaR U HR&b

Correct Answer :-

« Social interaction / JTHITG JTh

20) Students from underprivileged background are facing learning difficulty. Most likely factor that is

affecting them is -/aﬁang{m%mﬁmﬁwmmmﬁwal a4
TR SR WY I FUIAd PR IQT R I 2 -

1. Individual needs/ TfGATd SMIIHATY
2. Lack of sleep/ iq &t St

3. Stress/ d-ld

4. Cognitive capabilities/ TITTH® &I

Correct Answer :-

« Individual needs/ TfGdiTd 3MaRTHAT

21) MBTYI’s approach for a personality assessment is ./ afedd G & ﬁlt{' m’a\’vﬂ% Cal
BiEa gl

1. Perception/ YRUIT
2. Projective/ gard
3. Structured/ TRfAT
4. Judging/ 3{ThT

Correct Answer :-

« Structured/ Tfrd

22) The theory of Constructivism was propounded by ./ Fwtorare &1 Rrgia & GRI
wicrarier fosam ram T



1. Erikson / Qﬁﬁﬂ:{

2. Bandura / éllr_‘g'gﬂ

3. Vygotsky / ATSTIEbI
4. Kohlberg / a'ﬁw

Correct Answer :-

» Vygotsky / a@ﬂ?\’a’ﬁ

23) When new ideas are incorporated into existing ideas they are known as WALCKGLY ICEIRED]

el AR A e frarsmare, @S| S uAAMEISErs!
1. Accommodation / 3P dq

2. Replication / Wi faa=

3. Assimilation / STEHITAHRT

4. Reproduction / YT dla

Correct Answer :-

e Assimilation / HTHITdH T

24) Using our phones while driving is an example of what kind of attention? /E{IEﬁ"T PId G TR
B FT SUAN A1 {5 UPR F U $T TP 34160 52

1. Signal attention / R 3@y
2. Diffuse attention / ﬁﬁﬂ S{IYT
3. Selective attention / IIATHD HdUTT

4. Divided attention / faHad 3rgum™

Correct Answer :-

« Divided attention / faHad 3faem

25) Which of the following approaches to motivation does not rely on an intrinsic source?/

FATRT & forg FFafafaa & & o= a1 @i ue siafve dia iR AR T sxar g
1. Cognitive / IIHTHD

2. Humanistic /HTdaTG!

3. Behavioural / SAgRATG!



4. Socio-cultural / GHTS-Hih Db

Correct Answer :-

e Behavioural /Wﬁﬂ

26) CANCELLED

Students with learning disabilities have significant in a school related area
such as reading, writing, reasoning, listening or math’s. /Fﬂ@ﬁ I SA&HAT CI|
B B! TPd | Jaftd &1 oI AT, foraHn, a& &=, g3+ a1 1o o

Hew@qui @3]

1. Grasping / JHHA
2. Knowledge /GIHWI'\P[

3. ProbIems/“le:I@T'Q
4, Difﬁculﬁes/m

Correct Answer :-

. Difﬁculties/av—%_'-l'lé'm
27) CANCELLED

Physical development in the child slows down by the age range of: /¥ § IRIfve faer Ay S
Hrr & ot gt SiTan 3

1. 6-9 years / 6-9 CL
2.34 years/3-45|13f
3. 5-6 years / 5-6 CL

4. 4-5 years / 4-5 CL

Correct Answer :-
e 5-6 years/5-6 CL

28) CANCELLED

Which of these could be a cause for GDD?
/379 A -1 SIS & foT U SR 8 JPpar 82

1. Childhood infection / ST BT HhHUT



2. Childhood obesity / S BT HIeTdT

3. Strict parenting / % TRART
4. Excessive intake of sugar and additives/ -l 3R Tfsfesy &1 Srafiies Yo

Correct Answer :-

« Childhood infection / IU- BT HhHUT

29) Failure in performance is an essential part of Child learning process because: /ﬂa'sl'h s TP I,

I & SAfRTH F ufshar &1 ve Sifard fgwan 3 wife:
1. it helps in developing self awareness. / dg 3T SRe&dl f[ABRId B | A Bl %I
2. it prepares children for unpleasant experiences. /Wé’@aﬁaﬁ@ %ﬁ%%qaﬂﬂmgl

3. it helps student in re examination. / 4g Y-: 1ZRQTE';I'W}[ S BI Haa ddl %I

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Ug

Il ) U & o Txad S411 © fob SiRaw, S1ST a1 BYet a1, 3 T & Uy & Hg@yuf ]

Correct Answer :-

it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Jg

Il ) U & o e S411 © fob SRaH, S1ST a1 BYet a1, 3 IfTH & gy & gyl ]

30) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? /

ART, TP Wsie fE1e- % ot 3 I' 98 U sy udteror 3t fra famiwar &1 q@s 22
1. Clerical thinking/ PTIRIHY (et fRid

2. Logical thinking/ d Ifa

3. Organisational thinking/ GG feid-

4. Numerical thinking/ 3 faq

Correct Answer :-

» Logical thinking/?ﬁ%ﬁ

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:
Tour-- is beneficial to the economy of any nation.

1. --ism



2. —-ists
3. --ing

4, --ist

Correct Answer :-

2) Fill in the blank with the correct option in the given sentence:

The care a child and its mother get immediately after birth is called --natal care.
1. pre --

2. extra --

3. post --

4, ante --

Correct Answer :-

3) Which of the following options best combines the given sentences?

I study French. I study English. I study Russian.
1. Apart from French, I study English and also Russian.
2. Besides French, I also study English and Russian.

3. I study French, study English and also Russian.

4. | study French, English and also study Russian.

Correct Answer :-

» Besides French, I also study English and Russian.

4) Choose appropriate article for the given sentence:

I have been working all day. I would like to go and watch drama.

1. an



2. the
3.a

4. no article

Correct Answer :-

5) Choose appropriate articles for the given sentence:

_ campfireis _____ small fire you build when you camping.
1. A ... no article required

2.A..a

3. No article required ... no article required

4. No article required ... the

Correct Answer :-

6) Choose the appropriate option that rewrites the given sentence in its passive voice.

David broke the window accidently.

1. The window was broken accidently by David.
2. The window broke accidently.

3. Accidently, window was broke by David.

4. Window broken accidently by David.

Correct Answer :-

» The window was broken accidently by David.

7) Choose the appropriate option that rewrites the given sentence in indirect speech.

Vijay said to his brother,” Study hard for the exams.”

1. Vijay advised his brother to study hard for the exams.



2. Vijay asked his brother if he would study hard for the exams.
3. Vijay was advised to study hard for the exams.

4. Vijay scolded his brother and told him to study hard.

Correct Answer :-

¢ Vijay advised his brother to study hard for the exams.

8) Choose the appropriate synonym for the highlighted word in the given sentence.
A good speaker has the ability to captivate an audience.

1. thorough

2. powerful

3. strength

4. impotence

Correct Answer :-

» strength

9) Choose the appropriate tense to fill in the blank in the given sentence:

Helen Keller's deafness and blindness by a severe iliness when she was a baby and her
parents what to do.

1. cause, find
2. caused, doesn't know
3. has caused, didn’t knew

4. were caused, didn't know

Correct Answer :-

« were caused, didn't know

10) Choose the appropriate antonym for the highlighted word in the given sentence.

My family influences how I act.

1. persuades



2. inspires
3. underwhelms

4, affects

Correct Answer :-

o underwhelms

11) Choose the appropriate conjunction for the given sentence.

Scientists could not say with certainty perfect pitch was an innate talent.
1. wherever

2. wherever

3. which

4, whether

Correct Answer :-

e whether

12) Choose the appropriate determiner for the given sentence:

He ate the whole cake and there was left.
1. nothing

2. something

3. anything

4. much

Correct Answer :-

13) Choose the appropriate prepositions for the given sentence:

We left the camp early that morning, hiking the lake breakfast.

1. through ... at



2. around ... before
3. into ... after

4. across ... during

Correct Answer :-
e around ... before

14) Choose an appropriate modal for the given sentence:

It's already past the deadline. You _____ not delay the paperwork.
1. could

2. would

3. must

4, should

Correct Answer :-

15) Choose the option that best explains the highlighted expression:

She doesn't talk about these things because she likes to hold them at arm'’s length.
1. length of the arms are long

2. avoid discussing

3. at a short distance

4, avoid confusion

Correct Answer :-

» avoid discussing

16) Choose the option that substitutes the given phrase appropriately.

A solemn procession, especially for a funeral

1. Vigil



2. Hearse
3. Cortege

4. Mourners

Correct Answer :-
e Cortege

17) Choose the most suitable pronoun for the given sentence:

The lights look so beautiful. lights are expensive.
1. There

2. These

3. That

4, This

Correct Answer :-
e These

18) Read the sentence carefully and choose the option that has an error in it:

Children are very fond about sweets.
1. are very fond

2. Children

3. about

4, sweets.

Correct Answer :-

e about

19) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,



this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

Which animal kills the most people every year?
1. Tigers

2. Lions

3. Sharks

4. Mosquito

Correct Answer :-

» Mosquito

20) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

How should people protect themselves from mosquitoes while sleeping?
1. They should kill as many mosquitoes as possible.

2. They should spray the mosquitoes when they come near.



3. They should not sleep, but keep awake.

4. They can place nets over their beds to protect themselves.

Correct Answer :-

» They can place nets over their beds to protect themselves.

21) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

How is the mosquito able to transmit diseases from one person to another?

1. It injects a little saliva containing germs.

2. It has the habit of carrying only germs from one person to another.

3. When sucking the blood, it will also carry the germs from that person to another.

4. When it bites, the saliva can result in an itchy bump.

Correct Answer :-

» When sucking the blood, it will also carry the germs from that person to another.

22) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as



serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

Why do female mosquitoes feed on blood?

1. They need it to live and produce eggs.

2. They like to enjoy their eggs and young babies.
3. They like the taste of blood.

4. The deplore the taste of plant nectar.

Correct Answer :-

e They need it to live and produce eggs.

23) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
“lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

Pablo was spoilt and hated school. How did he get what he wanted to do?

1. He attended school only if he was permitted to take one of his father’s pet pigeons with him.
2. He did not attend school except when it was bright and sunny.

3. He went to school only if he was allowed to paint the whole day.

4. He was very good looking and enjoyed playing with his friends.

Correct Answer :-



» He attended school only if he was permitted to take one of his father’s pet pigeons with him.

24) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
‘lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

Give a synonym of ‘exceptional’.
1. Ordinary

2. Outstanding

3. Irrelevant

4. Insignificant

Correct Answer :-

» Outstanding

25) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
“lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

How did Pablo show his talent for painting?



1. He began painting in school and everyone enjoyed it.
2. He liked painting animals and birds.
3. He completed his father’s painting in a beautiful and realistic way.

4. He was always painting around his school and home.

Correct Answer :-

» He completed his father’s painting in a beautiful and realistic way.

26) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
‘lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

Who was Pablo Picasso?
1. He played with pigeons.
2. He was a school boy.

3. He was a farmer.

4. He was a famous Spanish painter.

Correct Answer :-
» He was a famous Spanish painter.

27) Choose the right tag:

, haven't we?
1. We have seen this drama,

2. We haven’t seen this drama,



3. They haven’t seen this drama,

4. They have seen this drama,

Correct Answer :-

¢ We have seen this drama,

28) Choose the appropriate tense to fill in the blank in the given sentence:

Someone my cake, half of it is gone.
1. will be eating

2. has been eating

3. been eating

4. had been eating

Correct Answer :-
 has been eating

29) Rewrite the following changing the active sentence to passive.

The guests enjoyed the party.

1. The party is enjoyed by guests.

2. The party has been enjoyed by guests.
3. The party was been enjoyed by guests.

4. The party was enjoyed by the guests.

Correct Answer :-

o The party was enjoyed by the guests.

30) Choose the right tag

She hasn't come yet, ?

1. has she



2. haven't she

3. hasn't she

4, doesn't she

Correct Answer :-

e has she
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Topic:- Mathematics (MAT)

1) Write the cubic polynomial whose sum of zeros, sum of product of its zeros taken two at a time
and product of zeroes respectivelyare 4,1,and-6: /

98 U1 9gUG 9aTY, forad eh! &1 AT, 3P Y Bl & UHEE BT I TP IR A 51 foram Tm 3R 3= o
BTG HHR: 4,1 3R -6 8:

1.x3+4x2+x—5

5 X% —dx?+x+¢



3_x3+4x2+x+5

4.x3—4x2+x—6

Correct Answer :-

2) Ifa > 0 and b < 0, then the point P(a,b) lies in: /
gfda > 0Td b < 03, f9g P(a,b) AT E:

1. 2" quadrant / fg<ta Tqufar

2. 4th quadrant / Elﬂ?f ?«lﬂ?ﬁﬂ
3. 3" quadrant / I gt
4. 1%t quadrant / UYH ﬂﬂ?-f&ﬂ

Correct Answer :-

. 4th quadrant / ?alﬁif ?alﬂtﬁi‘ﬂ

3) A figure on a graph sheet covers 10 fully filled squares, 8 half-filled squares, 3 more than half
filled squares and 6 less than half-filled squares. Find the total area. /

T I e UR TH 3fidsT 10 1 &1 Yuf U J, 8 91 o1 3141, 3 991 ot 31 A 31 3R 6 T Ht
Y A FY WRAT 8| T &ABA J1d B

152 sq units / 15- @et g@rs
1. “ &=

2. 21 sq units /21 T SHIS
3.23 sq units /23 aﬁswé
4. 17 sq units / 17 aﬁwrs‘

Correct Answer :-

e 17 squnits/ 17 aﬁm'a‘

4) If the CSA of a solid right circular cylinder of height ‘h’ and radius ‘r’ is one-third of its total
surface area, then the correct formula is: /

gfe b’ HuT a9 < BT 919 U S & ax{d S BT 95 YT Q%A s9P T YSIT QA BT
- fags 8, Al SHPT WR g B



3.2h=r

4. h=2r

Correct Answer :-

e« 2h=r

5) Four equal rectangles with length ‘a’ and breadth ‘b’ are joined to form a bigger rectangle.
Denote the area of bigger rectangle as x. /

TS a’ 3R dISTS b'aTd IR HHM 3Tgdl ] TP T81 3Tad 91 & e fAamar S g1 x & a9 §
T2 3T P &TFd Bl GUY|

1 X= dab

5 ab = 4x

3.x=4a+4b

4.x=4—|—ab

Correct Answer :-
L X= dahb

6) What are the additive identity, additive inverse and multiplicative identity of -1? /
-1 ¥ GNP THHD, TP Ufaad 3R U Toq0S T 8?2

1.0,1,1

2.0,1,-1

3.0,-1,-1

4.0,-1, 1

Correct Answer :-



7) What is the predecessor of 218010? /
218010 Ft Ydad! T frast g2

1. 228010

2. 218011

3. 218009

4. 218000

Correct Answer :-

« 218009

8) Which property can be used to solve this problem? Find the solution. /

39 UY Y g6 B3 & e 5w o1 &1 Ium far 5 gehar 32 89 6 SR
98654.7%x726+ 98654.7%x274 =?

1. Associative; 98654700 / TTE<R TUT; 98654700

2. Both associative and commutative; 98654700 / W?R'f Td Hy-faf ey ur gl ; 98654700

3. Distributive; 98654700 / fadRUTaS T0T; 98654700
4. Commutative; 986547000 / SH-faf8a 770T; 986547000

Correct Answer :-

« Distributive; 98654700 / fdcRullE UT; 98654700

9) A triangle and a parallelogram are on the same base and between the same parallels. The ratio of
the area of triangle and parallelogram is ./

T Y 9 FUHiaR Igds UM YR W YT GHH JaHR v@rsi & dg fRua &1 By« aur sasia
T FATraHISIUE . B

1.1:3
2.1:2
3.2:3

4.3:4

Correct Answer :-



10) Foran equilateral APQR, the vertices Q and R are (-3,0) and (3.0) respectively, then the 3rd
vertex P is: /

Ueh THGE APQR&F e, ofif Q uad R&#HT (-3.0)Td (3.0) &, ar o ofd P &

(0343)

1.

(093)

3.(0,3)

4.(0,4)

Correct Answer :-

(0343)

11) o7 . fge
) IfX is the mean of 11 observations XicHoiFss  enemouss X,,.then Z'f;l(xl- —X)= )
afg n FATOT X,,%5,%3, e X BART X B, A L0, (x; — X)= |
L1
7. X
3.1
4.0

Correct Answer :-

12) The polvgon having interior angles 117° 63° 32° 128°is:/

117° 63°,52°,128° TR HIVTTTAT ggagat &
1. Concave / ddd

2. Regular / 9H

3. Convex / 3dd



4. Convex and Regular / 3dd AR IH

Correct Answer :-
e Convex / 3dd

13)

In AABC, D and E are points on AB and AC respectively such that DE|BC, AD = x, DB=x — 2,
AF= x4+ 2,andEC=x— 1 thenx=__ '

AABC #. AB3RACT %#er D3R E g 59 &R § & DEIBC.AD = x.DB=x — 2.
AE=x 42, dWMEC=x—1%8.drx=___|

1.1
2.3
3.0

4.4

Correct Answer :-

14)  One angle of a decagonis 90°and all the remaining nine angles are equal. Then the measure of

the other angles is: /

UF GRAT HT U HIT 90° 3R A9 Fafr At FHIoT SR §. AT 37 FOl A9

150°
1.
5 120°

5e
3.

115°
4,

Correct Answer :-

150¢°



15) In APQR., PQ=3 cm, QR=4 cm then which of the following is not the side of a tniangle : /

APQR #, PQ=3 ¥#.QR=4 ##T §. T Foafaf@a & & &ia<r B &1 s 787 &

1.7 cm /7 S
2.3cm/3 qHl
3.2cm/2 4
4.5cm /5 9HI

Correct Answer :-

e 7cm /7 It

1 1
16) o st dhen thevalueof = 5 ~is:
i

Ife a+b=2ab . @l l+§$r AT &
i

[y
(R

e | =

2.
3.2

4.4

Correct Answer :-

17) " Given AABCADEF and AABC#AFDE then which of the following is not true? /
AABCZADEF 3R AABC2AFDE & arar §, ar Fafef@a & & wiaar agr ag1 82

1. CB=EF

2. BC=FE

3. AB=DF

4, AC=FD

Correct Answer :-



18)  Find who spends second least on fencing from the given table.
Name Shape of land Length of one side
Abhi Equilateral triangle 50m
Sanal square T0m
Mohan Fegular pentagon 60m
Suresh Regular hexagon 30m
& a5 aifeieT ¥ A X [ a5 oeel 9 GOl dad &
g FHid AT 87
o A H EHR UF ST H oEs
i SEELRES ] 50 HIeX
el aar 70 Hex
HAGa GH gerEgel 60 Hiex
qer A g 30 Hiex
1. Abhi / 3if¥
2. Suresh / G
3. Mohan / Hig4
4, Sanal / 94

Correct Answer :-

« Suresh /

19) Inatriangle PQR, £P=59", +Q=60" and 2R=61" . The largest side of the triangle is: /
U e PQR #. £P=39°, £Q=60° 3R £R=61°&| Tegat &1 Wady @t oot &

1 ZP

s
2.

3.PQ

4. QR

Correct Answer :-

¢« PQ



20) Find the 3rd zero of the polynomial x*4+7x2-2x-14 | if two of its zeroes are —/2 andV2/

TgUE +7x7-2x-14 T AR Yodh AT F, ARG 5805 o YoIh —V2 TdV2 Bl
1. -7
2.3
3.5

4.7

Correct Answer :-

I

21) 1, . : i I
If x=-3 _v=/1is the solution of the equation -2x+3v=k then the value of 'k’ is:, .

. 1 i

Ifg x=-30d y=—THERT -2x+5v=k & B &.dl k &I AT &

1. -7

2.-5

3.7

4.5

Correct Answer :-

22) Choose the digits from the options to fill the blank space of the following number so that the
number formed is not divisible by 3:

__9745/

ﬁaﬁr@a?%ﬁwwﬁuﬁ%mﬁﬁﬁﬁﬁmmmﬁmﬁmﬁaﬁﬁﬁ@mﬁ
faufsra T 81:

___9745
1.986
2.875
3.768

4.392



Correct Answer :-

e 768

23) choose a set of like terms from 9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b. /
9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b & T UGl & UH GY=YT BT ITq B1 |
1. 9a2b, 5ba?

2. 9a2b, 4ab, Sbaz, 7b2a, 3ab

3. 4ab, 4a, 4b

4, 9a2b, 5ba2, 7b2a,

Correct Answer :-

. 9a2b, 5ba?

24) ABCD is a parallelogram and E and F are the centroids of triangles ABD and BCD respectively. If
AC=12 cm, then EF=?/

%\BCDET:F JUHTR agye 8 3R E 3R F 0T Y ABD 3R BCD & d=w &1 afd AC = 12 I
, oY EF =2

1.2 cm /2 9#t
2.6 cm/ 6 9H!
3.4 cm/ 4 9

4.8 cm/S@ﬂ

Correct Answer :-

. 4cm/4@7ﬂ

25) Ajay has a plot in the shape of a regular hexagon. He buys a plot that shares a side with one of

the sides of the hexagon. The new plot is in shape of a square with area ‘4a2’ m2. Find the total cost
of fencing land owned by Ajay at rate of Rs. 453/m? /

3T & UTH TH Y Y ATHR & YfH &1 TH ¢hsl 81 98 TP 30 Yf¥ &1 ghaT Wiled & of I9
Yeyd & frIRI # A frelt uep fBAR & Ty forarT s o741 81 ¢ YfY &1 ghsT TiaR § foraer

ATEd ‘4a2’ W2 1 31T & waTiired arelt YfA A 453 I/ Wer & X | 918 TH Ft oA aNIG qId
Cxd

1. Rs. 7248a / 72482 W



2. Rs. 9060a / 9060a 3Td
3. Rs. 8607a / 8607a ¥UU

4. Rs. 7482 / 7482 3

Correct Answer :-

e« Rs. 7248a /72482 Uy

26) are logical consequences of the accepted axioms. /

_ Hipa Rygidl & aifee alomg g1
1. Conjectures / 3ITHIH
2. Theorems / opapa)

3. Postulates / SR
4. Corollaries / IUYRY

Correct Answer :-

e Theorems / opapa)

27) The price of 12 plates and 8 glasses is Rs. 528. If price of one glass is Rs. 18, then what is the
price of 6 plates? /

%vﬁﬁaﬁ?sﬁtm?mqwszsw&%wﬁwﬁmmm 18 ¥UY g, dl 6 Wel &1 geu fora-r
?

1. Rs. 292 /292 30
2. Rs. 192/192 30
3. Rs. 200 /200 393

4. Rs. 384 /384 300

Correct Answer :-
« Rs. 1927192308

28) The area of a circle that can be inscribed in a square of side 8 cm is /

s yTaA TEF T F smfaA e BT awa gl

) 24msqem [24mddt JHAT



5 16m sqem /16w da THT

3 36 msqem /[36m I JHAT

4 6msqem [6m FIT JHT

Correct Answer :-

16msqem /16w T THT

29) The word ‘Jiva'- half-chord from Aryabhatiyam translated into Arabic also means ./
AU | Mg ‘ST — §TF 1S B 3R A srgafea A Wwggadr arf sy gnmi
1. Tan / ST (%:[)

2. Secant / J&T

3. Cos / DIl (H14)

4. Sinus / ST (VTSTY)

Correct Answer :-

e Sinus /ST (H1gTY)

30) The ratio between any two adjacent Fibonacci numbers (after 3) is about 1:1.6. This ratio is
called as i

it oft S e fhaAat Wemsi (3 & 918) & o T ST, TIHT 1: 1.6 81 39
3UTd B CadRE G

1. Golden ratio / ‘i|c"3'_'| %IQIZH
2. Fibonacci sequence /w 3{IhH

3. Golden triangle / Meed ﬁ’ﬂ\_ﬂ
4. Liber Abaci / foTeR e

Correct Answer :-

e Golden ratio / ‘ilc’S:l §|§|€I|

(8,—2) and (3,—6) i

31) The distance between the points i

fa=g (8, -2) 9T (3, -6) ¥ dw HI g gl



\."E units [ ﬁ,’ﬁﬁé

1.

5 V41 units / \."HE?I%
\.."'ﬁu.‘ﬂits ! \."ﬁﬁrg

3.

4 \."'Eu:rﬁts / \H’Rm
Correct Answer :-

V41 units / \."ﬁﬁé

32) The graphic representation of the equations 3x + 2y = 5 & 9x + 6y = 6 gives a pair of: /
THIHI 3x + 2y = 5 TG 9x + 6y = 6 & AW A=y g 34 &

1. Intersecting lines / Wl @MY

2. Perpendicular lines / daad Y@

3. Coincident lines / STt X@TE

4. Parallel lines / GHMIAR 341U

Correct Answer :-

« Parallel lines / HIAR ¥@TQ

33) The ordinate of all points on y-axis is:/
y-31&f IR 9t farg il & wife o @:

1. Any number / ﬁ's‘ T

2.0

3.2

4. 1

Correct Answer :-

+ Any number / CAERSEEA|



34) Perimeter of rectangle with length 76 meter and breadth 48 meter: /
76 Hiex @dl 3R 48 Hiex A T 3 FT uRku™ 3:

1. 240 Hiex
2. 124 HieR
3. 248 Hic}
4. 126 HIR

Correct Answer :-

. 248 TR

35) The number of times a particular item occurs in a given data is called its .
feu ¢ siwsT # te fadiv ug & yrd g7 areht wEn 3 gHH HET a1 81
1. cumulative frequency / TSt SRERCT

2. variation / fHerl

3. frequency / SRERAT

4. class size / I SfaRTA

Correct Answer :-

o frequency / SRERAT

36) The following sizes of shoes were sold in a day. Calculate the mode.
58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9 and 5

Frafafad sTeR & 9 te &7 § 92 TU| Igas &1 T B
58,9,56,4,9,3,9,3,6,1,9,7,1,2,9Td 5

1.3

2.6

3.5

4.9

Correct Answer :-



37) A circle has two parallel chords of lengths 6 cm and 8 ¢cm .If the chords are 1cm apart and the centre is on the
same side of the chords, and then find the length of diameter of the circle. /

TP g A 6 A 3R 8 Al Aars Y ) FHTHIGR oftar &1 afg Sshar 1 M g @ R g SNaTF wRw g, at
I & T P Ga1S 1 DL |

1. 12 cm/ 12 9
2.10 cm / 10 9#
3.5cm /59

4,6 cm/ 6 IH

Correct Answer :-

e« 10cm/ 10 J#

38) Choose the number not divisible by 3. /
3 | fauifora 78t 819 areht wen &1 999 |

1. 67890

2. 453627

3. 99999

4. 75286

Correct Answer :-

e 75286

39) Find the additive inverse of integer 97. /
qUIfes 97 BT ARTHSD Uidard J1d B |
1.79

2.97

3.-97

4.-79

Correct Answer :-

e -97



Find the cost of fencing an equilateral triangle of side 64 m at the rate of Rs. 9 per metre. /
64 HWiex Yereil aral U JHaTg AYS # 9 30 $t o3 | 918 T & aFTd J1d B

1.Rs. 1728 /1728 30

2. Rs. 2880 /2880 TG

3. Rs. 1862 /1862 ¥4

4. Rs. 1674 /1674 30

Correct Answer :-

e Rs. 1728/1728 30

41) Behavioral objectives are also known as ./

AEIND Il DI & ¥u H ff ST ST 3
1. Developmental objectives / ICCaRSIEAC 3%5@
2. Specific objectives / fafary 3%?’1

3. Mastery objectives / E&HITI;Uf 3
4. Performance objectives / qai 3%52?1

Correct Answer :-

» Performance objectives / Era'-‘zh 3%@1

42) Reliability of a test means_____ ./

U e &) faygaarsrarfe

1. Accuracy of test scores / qﬁ&‘ﬂ 3‘|5|73f ﬁ Qﬁ’\ﬂ@_vﬂ
2. Development of test scores / erifall 3| T famrg
3. Consistency of test scores / erifall 3| Bt T
4. Rating of test scores / TRI&T 3] IS

Correct Answer :-
» Consistency of test scores / erifall 3| Bt T

43) Choose the expression which shows the distributive property of whole number. /

qul J@&IT & fAaRonTeaTs T[ur g1 aTelt Fioid &1 99+ B |



1. 441%(352x568)= (441x352)x568
2. 241(367+543)= 241x367+543x241
3.831+511=511+831

4. 198+158+217=158+217+198

Correct Answer :-
o 241(367+543)=241%x367+543%241

44) is the creator of logarithm. /

YU & fAmfar g1
1. Cantor / FR
2. John Napier / i AR

3. Newton / =gc
4, Sylvester / Raadwer

Correct Answer :-

« John Napier / EEEIFEH

45) ‘Folk algorithms’ of mentally performing number operations, also for measurement, estimation,
understanding of shapes and aesthetics prevailed in the ./

Y U A frareia sie dfpar &1 wie veaniew, st f A=, srgam, srefaal 8ik SRqut
gagrsfaedie,  dAuvaRaz

1. Formal Education/Gﬁ'CI?ITR’E ﬁ[&‘l’[
2. Universities / fayfaemag

3. Villages /"Ti_d

4, Schools / IEBINE]

Correct Answer :-
» Villages /"Ti_d

46) ‘Bija Ganita’ and ‘Siddhanta Siromani’ are the two important works of ./
e it SR R RRmfr & & Hgayul I |

1. Bhaskara-2 / HIRh-2



2. Narayana panditha / TIRTIU[ ufed
3. Varahamihira / W&I'%T
4, Mahavira / IIEW

Correct Answer :-

e Bhaskara-2 / HIRh-2

47) The classification of Audio-Visual aids was done by ./
YT (SATTSTI-FAF31eT) TSP BT TNBRUT____ GIRT fbar T/47 AT
1. Krathwohl / Hard

2. Edgar Dale / TSR =

3. Bloom / &JH

4. Anderson / TSI

Correct Answer :-

» Edgar Dale / USTR =

48) The main logical tool used in establishing the truth of an unambiguous statementis ./
WY Y D TaETs B! RITUT A A Waa g aifbs ares 3|

1. Deductive reasoning / Ir'\'l‘ll-l"lld-lcb dcf?

2. Axiomatic reasoning / E’qﬁ@'a@

3. Logical reasoning / difhes db

4. Inductive reasoning / SFTHATHD GE2

Correct Answer :-

» Deductive reasoning /Wﬂ%

49) If the co-ordinate of a point is (2, -3), then which quadrant it belongs to? /
gfe T fag &1 2N (2, -3) 8, 91 g foa aguinr a @eafta 82

1. I quadrant /I Elﬂ?ﬁ?[

2. IV quadrant / IV a@’,quT

3. II quadrant / IT aﬂ?ﬁ'ﬂ



4. III quadrant / III Iquf=r

Correct Answer :-

e IV quadrant / IV aﬂu’m

50) Number of tickets sold for 5 football matches are 20378, 19872, 20417, 32473 and 23473. Which
number is closest to 20000? /

5 Ppeara el & g 3 Y fewel #t TBT- 20378, 19872, 20417, 32473 3N 23473 § | HIF-I [WAT 20000
¥ Apeaua?

1. 20417
2. 19872
3. 32473

4. 20378

Correct Answer :-

e 19872

51) A car takes 2 hours to reach a destination by travelling at 60 km/hour. How long will it take while
travelling at 90 km/hour. /

TH R DI 60 fHtii/der &1 1fa I a1 Hd §T e I a6 Uga- | 2 9 @1 § 1 90 fiider ot nfa @
T Hd U I Fa=1 o anm|

1. 1 hour 20 minutes / 1 T 20 e
2. 2 hours 40 minutes / 2 9T 40 fie
3.2 hours / 2 ©¢

4. 1hour 30 minutes / 1 92T 30 fiFe

Correct Answer :-

e 1 hour 20 minutes / 1 ¥eT 20 fiAe

52) The circumference of a playground is 44 cm. A circular track of width 4 cm lay outside around it. The

area of the circular track is:/W@ﬁ%ﬁEﬁ?ﬁmMﬁ%l mmeﬁ4ﬁaﬁiﬁ?ﬂg
11 U g Y ¢ | =il UY &7 &% d 3:



53) If the difference between the humbers obtained on dividing a positive number x by 5 and
by 3is 1. Then: /

Ife T YFTHD W x &1 5 3R 3 A AU F31 R urd w=msit & &9 &1 3w 1 §, o

X x
3= 173

1.
x
___:1
3 5

2.
Xx x
___:1
5 3

3.
x X
_:__1
3 5

4,

54) CANCELLED

0,1,1,2,5,8, 13, 21, 34, 55... and so on is a sequence named after the mathematician

/

0,1,1,2,5,8, 13, 21, 34, 55... 3R 3! X8 3T, TH 3JHH g St TG &
19 R 2

1. Euclid / gfdas
2. Thales / I

3. Fibonacci / BTSEMIT
4. Pythagoras / mgzmﬂw



Correct Answer :-

e Fibonacci/ maﬁ[

55) CANCELLED

3x + 3x+....100

If times =150, then x= /

uﬁ 3x + 3x+....100 T =150 %’ at x=

1
L 2

1
, 3
3.1
4. 2

Correct Answer :-

56) Siya attended a mathematical ability test where (+3) marks are given for every correct answer,
(—2) marks are given for every incorrect answer and (-1) mark for every unattended question. Siya
scored 80 marks though she got 34 correct answers and left 10 questions. What was the total
number of questions for the test? /

Ry 3 v nforta errar wfieror & ymT R wiet vl® W SW & Y (+3) 8w fRE 914 §, U@ Ted SW
¥ T (-2) 3 AT wITa & iR wd® uy rg=ifya wy & forg (-1) 21 Rean 7 80 3% wrw fg, gTenife 39 34
gt IR 3 SR 10 uy o= 7@ fru B fAw| wdhen ¥ usi 9t pa v feast 9z

1. 48 questions / 48 U¥H

2. 50 questions / 50 UY

3. 75 questions / 75 U4

4. 60 questions / 60 UH

Correct Answer :-
e 50 questions / 50 U¥

57) Continuous evaluation is meant to emphasize on ./




AdHAPT____ WER A & g giarg)

1. retesting and feedback of evidence to teachers and students only / Had el 3R BE B ﬁ‘l'q 1&g
&1 TORIE0 3R ufaferar

2. diagnosis of learning gaps, use of corrective measures only / Had HUTH SR Bl faM, JURTHD
JUTT BT IUANT
3. all of the above / SURTGA Tt

4, regulation of assessment in total teaching-learning purpose only / Had EE[UT fRreror-aifenm | W
CARCIEREE

Correct Answer :-

« all of the above /m?ﬂ Tt

58) An Autocratic style of teaching is also known as ./

Rrer @t v PR (Siicihfes) Akt ot & u d W S ST g1
1. Informal style / 3T el

2. Integrative style / W et
3. Student-centered style / BHE-bi<d el

4, Teacher-centered style / fRrefep-hfod el

Correct Answer :-

« Teacher-centered style / R1&® “PHfsd et

59) Negative Reinforcement precedes the response and succeeds the response. /
TPRIAP [Ada ufafrar ¥ ugd ghar g 3R ufafsrar & gyTd gar 2|
1. punisher / S8 GIdT (§S ¢ dTa)

2. prover/mmw

3. prediction / WQFT

4. investigator / 3D (ST DA dIcdl)

Correct Answer :-

« punisher / 8 GIdT (ae’éfrarm

60) p:5+4 = 9(T)



q:5x(-12)<-100(f)

The truthfulness or the falsity of statements we use in daily life is called its

/ p:5+4 = 9(T)
q:5x(-12)<-100(f)

¢ ofta ® gUR gRT ST fPT oM a1et Y= &1 Ao a1 Sl Bl HET AT g
1. truth value / G HH

2. conjunction / FATS

3. connectiveness / GUTSTehdl (BT a-4)

4. falsity / AT

Correct Answer :-

e truth value / I HIH



